A FI64E 2 A A7ETEREHENE) R L )
H [men BF [ 7 F= N x % B fis =5
1 | A(18:00 EERENIEE e = EE Vo PN W EI R
2 | 4
3|+
41 H
5| H113:00 BECEHRIF T HADHE AR == NS Di B =S
6|k
7| K
8 | A [19:00 BFC?E%E it BilET S N FEEE
9 | 4:115:45 M- Eeanik JRIAHE B R
10| £:110:30 F'?EJ’ZTHT)«EW“ BEE RN =y XIS
11| H
12| H
13| k&
141 7K [18:00 AR AT A e 42— FHY FEJH
15| AR
16 | 4
7|+ 10:00 E A R KRR AT R 4y - BRI INBR
19:00 PN S e SOUNE
10:00 12:002C, AT, B, WHEBIR% |FAS
18 H 110:00 12:00|% & FFIBR FA) 57 FH - BN %
10:00 ~ 12:00|%& HE AR f= IR s P M TR EEVINS
19| H
20| k.
217K (18:30 A - RS PR E S
22| A
23| &
24| +
25| A =BG SRR (AR 1X) P 18 B A [ - FRAE R
26| H
271k
28| 7K
29| A
[ & A B it F & ] [ A (3H) DITH]
3/2(+): BFC ARHIR,
3/3(H): m%kﬁééllﬁ
3/200K): i BB D
3/173/1: %@k“‘%ﬁﬁ [
3/O(O): Betsas B R




	R6.2

